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b#a
d[1,1] = min( 0+1, 1+1, 1+1)
d[1,1]1 =1
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a ==
d[1,2] = d[0,1]
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n#a
d[3,1] = min( 2+1, 3+1, 1+1)
d[3,1] =2



Levenshtein Distanz

3
2

2

1

2134

1

23|45

1

213|4|5]|6

1

bla|ln|a|n|e

1
1

0

ni2(2]|2
al3[3|2]|2

ni4(4(3[2]|2

a|5|5|4|3|2|2|2

s|6|6|5|4|3|3]|3




Levenshtein Distanz

banans

(/]
[0}
<
()
N
e
(0]
(V]
| -
L
QOO |IIT( MOIN|IANM
/
4
CIOIT  OD(N|~ | N[M
Ot O N[~ N|AN[M
CIOMO|IN|~~| N[N | <
O N[~ AN N || WO
O~~~ N M| |[WO| O
O~ N M| WO | O
| |l CcC| ®©| C| ©| N




Levenshtein Distanz

banans

bananas

S)
O ©
c c
S8
0 2
¢ c
Ll Ll
QOO |IFT( MO|IN|IANM
/
4
CIOIIT| OD|(N|~*TAN[ M
O T MO N[~ N|AN[M
CIOMOIN|~~| N[N | <
(N[~ N[N | T |WO
O~ N M| |[WO| O
O~ N M| WO | O
| ol cCc|l ©| C| ©| »




-|blaln|aln|e
-10T1/2|13(4|5|6
al|1]|1 1x~2 3145
n| 222|142 |34
a|3|3[2]2142]3
ni4(4|13|2]|2 ‘} 2
a|5|5/4|3]2]|242
s|6|6[5|4(3|3|3

Levenshtein Distanz

Ersetzen( e, s)
Einfugen(
Behalten(
Behalten(
Behalten(
Behalten(

e
a
n
a
n
a

Loschen( b

)
)
)
)
)
)

banans

bananas
bananas
bananas
bananas
bananas
ananas



